.....................................................................

A packet of mixed sweets is made up of
jellies, butterscotch and mints. % of the
sweets are jellies and % are mints. What
fraction of the sweets is butterscotch?

Al 7 2 3

.....................................................................

# There are 240 pets at a pet motel.

One-quarter of the pets are cats and the

_ rest are dogs. 30% of the dogs are

Labradors. How many Labradors are at
the pet motel?
Al18 B 36 C 54

....................................................................

W]:uch set of fractions is arranged from
lowest to highest?

23457 p27345
3’45767 10 3’10°4°5°6
74523 72345
10°5°6°3’4 10°3°4°5°6
2 4
X =—=72
13 5
8 7 1 1
—~ B2~ C2 =
A115 215 “25 D1
Which fraction is not equal to %‘?
4 12 16 28
A — B — C-— D=
25 30 40 70

....................................................................

Leo asked 200 people which of four sports
they preferred to watch on television. The
table shows the results.

Sport { Cricket | Swimming | Netball | Football
“Numbér| 39 51 42
What percentage o
_ preferred football? %
Which has the same value as T?
A3t 832 il op 4%

4 4 4

> 15% of all students received top marks in .

ey,

: Last week Dave’s cows produced

an exam. — of all students who achieved
top marks were girls. If 180 students sat

for the exam, how many |

glrls got top marks?

25000 litres of milk. This week they

“produced 25500 litres. What percentage ‘

increase is this? |
A2% B5% C125% D 20%

.....................................................................

A club has 320 members. 50 of the
members are in the club today. The
fraction of members who are in the club

today is closest to

1 1
A =
-3 4

% of a number is 24. What is % of
the number?

In 1983, Cameron celebrated his
twenty-first birthday. On the same day, his
niece Amy was also celebrating her

birthday. Amy was 3 of Cameron’s age.
On their birthday in 2011, what fraction

“of Cameron’s age is Amy?

1 4 2 5
A= B — C = D =

3 5 3 7
Which number is the iargést‘? o

1 3 5 7
A — B = — D —

3 8 ¢ 12 24
15 -+ %— =7
AS B 10 C 30 D 45

3

A recipe for Anzac biscuits uses = cup
of coconut. This recipe makes three dozen
biscuits. Georgia wants to make four
dozen biscuits. How many cups of coconut
should she use?
A1l B 1%' C 1g D3




Mini Test 21: Fractions and

¢ 2B 3c:4]3 5D 6A 734
10A 11D 1227 13D

1

2

Percentages.....................,............: ......... -

[Write both fractions with a common
denominator (15).]

1 3
25725

1 5
373 ;
Now the number halfway between 21—5 and

' 2—§— is Zi
-1 1 1,
So the number halfway between 2§ and 25 is
4

ZE 7

2 1

5 are jellies and 3 are mints.

201
Fraction.of jellies and mmts = 75— 3
-8 5 :
" 20 7 20
=B
13 . 20
Remamder =1- 56
20

The fraction of the swéets that are

7
butterscotch is > 0

% of the pets are cats
Number of cats = 240 4
. =60
Number of dogs = 240 — 60
=180"
Number of Labradors = 30% of 180
= —of 18
10 of 180
=54

Each éet of fractions has denominators 3,4, 5,
6 and 10.

The common denominator is 60.
40

= E |
_s
60
48
60
_ 50
T 60
42
)
So, in order, from lowest to highest, the

fracti 40 42 45 48 50
actions are ey 60° 60° 60° 60°

The set of fractions that i is inorderis

|MJ mlm s B0 WM
i

=
<

3104’56

6

2 4 5 4
I3X5=3%5%
_4 13‘4]
3 [?xj
41 '
3

Consider each option:

— cannot be simplified.

25
12 2 -
0" 5 (after d1‘v1d1ng both numerator and
16 2 denominator by 6) .
-3 (after dividing both numerator and
denominator by 8)
% = —?— (after dividing both numerator and

10

denominator by 14)
The fractlon that is not equal to — 1s
Total people = 200
“Sport - | Cricket Swimmfng Netball| Football

25

‘Number| 39 51 42
Numbet in table = 39 4+ 51 + 42
=132 o ‘
Number who preferred football = 200 — 132
=68
. 68
Fraction who preferred football = 200
_34
_ 100
So 34% of the people preferred to watch
-football. '
13 1
4 34

[4 divides into 13 three times with remainder one.]
Number who received top marks is 15% of 180.
Now 10% of 180 = 18
S05% of 180 = 9
and 15% of 180 =18 + 9

=27

Number of girls = % of 27

=18

[Or % 0f 15% are girls who received top marks.

Now % of 15 is 10, so the number of girls who
received top marks is 10% of 180 or 18]

Increase = 25500 — 25000
= 500

% increase = 22830

5
—'55*5)(100/6

1
5)(100/0

=2%

X 100% -



50 -
11 Fraction = 20

35

32 : , Y
Nowilsills > 1 5 andllsi
15°4°20'5 ® 25 6 30"

So, of the options, the fraction is closest to %

[Or, for each option find the fraction of 320, -
= of 320 is more than 100.

of 320 is 80.
of 320 is 64.
of 320 is aboqf 53]

12 — of a number is 24,

. i
fthenumber1324 20r12 15 15-:—§=15><3

The number is 12 X 3 or 36. ' ' =45 : :
3 N ; 16 Cups of coconut for 3 dozen = —
Now — of 3615 27. .

4

So % of the number is 27.

12 In 1983, Cameron was 21. -
Amy’s age in 1983 = %of 21=7
Years Jater = 2011 — 1983 = 28

W= Wi cn[r—\t.nln—l-h}r-*w —

w

I
W

Cups of coconut for 1 dozen =

1y

= e -p]w_-h

Cups of coconut for 4 dozen = 7x4

3 H _ ) ’ = 1
: Cameron’s age in 2011 _ i; +2 Georgia should use 1 cup of coconut.
Amy’s age in 2011 = 7 + 28 ' '
=35
Fraction of Cameron’s age = o)
]
7

14 [Change each fracnon to an equwalent fractzon
with a common denominator (24).]

18-
3 24
3.9
8 24
5 10
12 24
7

2%

- .10 5
- 'The largest fraction is 24 %' 1y



